

Systems of Two Linear Equations in Two Variables

▶ Start

Systems of Two Linear Equations in Two Variables

▶ Start

$$\left\{ \right.$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

$$a_1b_2 = a_2b_1$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

$$a_1b_2 = a_2b_1 \quad \text{and}$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

$$a_1b_2 = a_2b_1 \quad \text{and} \quad a_1c_2 \neq a_2c_1$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

$$a_1b_2 = a_2b_1 \quad \text{and} \quad a_1c_2 \neq a_2c_1$$

Infinitely many solutions :

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

$$a_1b_2 = a_2b_1 \quad \text{and} \quad a_1c_2 \neq a_2c_1$$

Infinitely many solutions :

$$a_1b_2 = a_2b_1$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

$$a_1b_2 = a_2b_1 \quad \text{and} \quad a_1c_2 \neq a_2c_1$$

Infinitely many solutions :

$$a_1b_2 = a_2b_1 \quad \text{and}$$

Systems of Two Linear Equations in Two Variables

▶ Start

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1$$

No solutions :

$$a_1b_2 = a_2b_1 \quad \text{and} \quad a_1c_2 \neq a_2c_1$$

Infinitely many solutions :

$$a_1b_2 = a_2b_1 \quad \text{and} \quad a_1c_2 = a_2c_1$$

Systems of Two Linear Equations in Two Variables

▶ First

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

One solution :

$$a_1b_2 \neq a_2b_1 \quad \text{▶ Proof}$$

No solutions :

$$a_1b_2 = a_2b_1 \text{ and } a_1c_2 \neq a_2c_1 \quad \text{▶ Proof}$$

Infinitely many solutions :

$$a_1b_2 = a_2b_1 \text{ and } a_1c_2 = a_2c_1 \quad \text{▶ Proof}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases} \quad \begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases} \quad \begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases} \quad \begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$\begin{cases} (a_1b_2 - a_2b_1)x + (c_1b_2 - c_2b_1) = 0 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases} \quad \begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$\begin{cases} (a_1b_2 - a_2b_1)x + (c_1b_2 - c_2b_1) = 0 \\ (b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases} \quad \begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$\begin{cases} (a_1b_2 - a_2b_1)x + (c_1b_2 - c_2b_1) = 0 \\ (b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0 \end{cases}$$

$$a_1b_2 - a_2b_1 \neq 0,$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases} \quad \begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$\begin{cases} (a_1b_2 - a_2b_1)x + (c_1b_2 - c_2b_1) = 0 \\ (b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0 \end{cases}$$

$$a_1b_2 - a_2b_1 \neq 0, a_1b_2 \neq a_2b_1$$

Systems of Two Linear Equations in Two Variables

▶ Start

One solution : $a_1b_2 \neq a_2b_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1b_2x + b_1b_2y + c_1b_2 = 0 \\ a_2b_1x + b_2b_1y + c_2b_1 = 0 \end{cases} \quad \begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$\begin{cases} (a_1b_2 - a_2b_1)x + (c_1b_2 - c_2b_1) = 0 \\ (b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0 \end{cases}$$

$$a_1b_2 - a_2b_1 \neq 0, a_1b_2 \neq a_2b_1$$

$$x = -\frac{c_1b_2 - c_2b_1}{a_1b_2 - a_2b_1}, y = -\frac{a_1c_2 - a_2c_1}{a_1b_2 - a_2b_1}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 \neq 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 \neq 0 \end{cases} \quad \begin{cases} a_1b_2 = a_2b_1 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

No solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 \neq a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 \neq 0 \end{cases} \quad \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 \neq a_2c_1 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$
proof

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \\ a_1a_2x + b_1a_2y + c_1a_2 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$
$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1) \\ a_1b_2 - a_2b_1 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{aligned} & (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1) \\ & \begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 = 0 \end{cases} \quad \begin{cases} a_1b_2 = a_2b_1 \\ \end{cases} \end{aligned}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{aligned} & (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1) \\ & \begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 = 0 \end{cases} \quad \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \end{aligned}$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{aligned} & (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1) \\ & \begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 = 0 \end{cases} \quad \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \end{aligned}$$

if $a_1 \neq 0$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{aligned} (b_1a_2 - b_2a_1)y &= -(c_1a_2 - c_2a_1) \\ \begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 = 0 \end{cases} & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \end{aligned}$$

if $a_1 \neq 0$, then

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{aligned} & (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1) \\ & \begin{cases} a_1b_2 - a_2b_1 = 0 \\ a_1c_2 - a_2c_1 = 0 \end{cases} \quad \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \end{aligned}$$

if $a_1 \neq 0$, then $\forall y$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

$$\text{if } a_1 \neq 0, \text{ then } \forall y, \left(-\frac{b_1}{a_1}y - \frac{c_1}{a_1}, y \right)$$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

if $a_1 \neq 0$, then $\forall y, \left(-\frac{b_1}{a_1}y - \frac{c_1}{a_1}, y\right)$ are solutions.

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

if $a_1 \neq 0$, then $\forall y, \left(-\frac{b_1}{a_1}y - \frac{c_1}{a_1}, y\right)$ are solutions.

if $b_1 \neq 0$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

if $a_1 \neq 0$, then $\forall y, \left(-\frac{b_1}{a_1}y - \frac{c_1}{a_1}, y\right)$ are solutions.

if $b_1 \neq 0$, then

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

if $a_1 \neq 0$, then $\forall y, \left(-\frac{b_1}{a_1}y - \frac{c_1}{a_1}, y\right)$ are solutions.

if $b_1 \neq 0$, then $\forall x$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

if $a_1 \neq 0$, then $\forall y, \left(-\frac{b_1}{a_1}y - \frac{c_1}{a_1}, y\right)$ are solutions.

if $b_1 \neq 0$, then $\forall x, \left(x, -\frac{a_1}{b_1}x - \frac{c_1}{b_1}\right)$

Systems of Two Linear Equations in Two Variables

▶ Start

Infinitely many solutions : $a_1b_2 = a_2b_1$ and $a_1c_2 = a_2c_1$

proof

$$\begin{cases} a_1x + b_1y + c_1 = 0 \\ a_2x + b_2y + c_2 = 0 \end{cases}$$

$$\begin{cases} a_1a_2x + b_1a_2y + c_1a_2 = 0 \\ a_2a_1x + b_2a_1y + c_2a_1 = 0 \end{cases}$$

$$(b_1a_2 - b_2a_1)y + (c_1a_2 - c_2a_1) = 0, \quad (b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$(b_1a_2 - b_2a_1)y = -(c_1a_2 - c_2a_1)$$

$$\begin{cases} a_1b_2 - a_2b_1 = 0 & \begin{cases} a_1b_2 = a_2b_1 \\ a_1c_2 = a_2c_1 \end{cases} \\ a_1c_2 - a_2c_1 = 0 \end{cases}$$

if $a_1 \neq 0$, then $\forall y, \left(-\frac{b_1}{a_1}y - \frac{c_1}{a_1}, y\right)$ are solutions.

if $b_1 \neq 0$, then $\forall x, \left(x, -\frac{a_1}{b_1}x - \frac{c_1}{b_1}\right)$ are solutions.